"2 11/GeV]

pT

1/o0do/d

Ratio to ATLAS

=
<
I

|
o
R

-
o
@

0.5

1SQOO va PP

tt
| I T I T | T I T I I | 9
c
= top . . — 9
= pT (ATLAS semileptonic ttbar) 33
L 1=
| _|00
\
I A
o
— =
- =
[ —™
B 1o
=
u i
B o
L — ™M
>
- B ATLAS —w©
= A Pythia 6.428 370 SIT
~ --©-- Pythia 6.428 atlas-csc - i
| -+~ Pythia 6.428 d6t 1%
- Pythia 6.428 default _15
= ---v-- Pythia 6.428 dw 3 c
~ o Pythia 6.428 p0 38
- —
B 19
o
(&)
= | | | | | — g
= Y -
= =P
— T 0o 3
- F :
L A 0 5" _
‘,_;,;;‘.?:A';S‘Yﬁﬁﬁ? & —7 /A 1
B — > ]
| —0.5
| 1 1 1 1 " | " 1 " 1 1 " |
0 500 1000



	Contents
	Page 1


